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Hey Diddle, Diddle,The median’s the middle,We add and divide for the mean,The mode is the one that occurs the most,And the range is the difference between.

Match the word to the working out for the following numbers:1, 1, 3, 3, 3, 4, 6

Mean
Median
Mode
Range

6 – 1 =

1, 1, 3, 3, 3, 4, 6

1, 1, 3, 3, 3, 4, 6

1+1+3+3+3+4+6 ଻ ୀ

Find the Mode of the following data sets:
(a) 5  6  3  4  4  5  3  6  1  3  1  2(b) blue, red, blue, black, red, blue(c) 15  23  14  15  30  16  19  22  18  23(d) 25  23  31  30  25  25  24  24  26  27  21(e) 54  51  54  51  54  51  54  51  54  15  54 

Find the Range of the following data sets:
(a) 5  6  3  4  4  5  3  6  1  3  1  2(b) 4  5  6  4  5  5  9  2  7  1  3  5(c) 15  23  14  15  30  16  19  22  18  23(d) 25  23  31  30  25  25  24  24  26  27  21(e) 54  51  54  51  54  51  54  51  54  15  54 

Find the Median of the following data sets:
(a) 5  6  3  4  4  5  3  6  1  3  1  2  7(b) 4  5  6  4  5  5  9  2  7  1  3  5  9(c) 15  23  14  15  30  16  19  22  18  23  32(d) 25  23  31  30  25  25  24  24  26  27  21(e) 54  51  54  51  54  51  54  51  54  15  54 

Find the Mean of the following data sets:
(a) 5  6  3  4  4  5  3  6  1  3  1  2  7(b) 4  5  6  4  5  5  9  2  7  1  3  5  9(c) 15  23  14  15  30  16  19  22  18  23  32(d) 25  23  31  30  25  25  24  24  26  27  21(e) 54  51  54  51  54  51  54  51  54  15  54 

LO: Calculate different types of averages and  a measure of spread.
Mode Median

Range Mean

@scarimaths scarimathematician www.scarimaths.weebly.com



From a list of 7 numbers the mean was calculated to be 6.3. If only one more number is added, what number be if the new mean is 8?

In Year 9 there are 156 pupils and 6 classes. What is the mean number of pupils per class?

Below are 5 cards in ascending order:

The range is 5.The mode is 5The median is 5What are the numbers on the other cards?
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7

There are 6 classes in Year 8.The mean number of pupils per class is 27.How many pupils are in Year 8?

Mr Linge and Mr Rimmer had a competition to see who could get the highest score in darts…blindfolded.After hours of attempts they finally stopped. Here is the data from their scores. Who is the best blind-darts player?
Mr Linge Mr Rimmer

65 75
74 20
21 30
34 69
65 68

You must give 
evidence to support 

your choice.

Find the missing number (X) in each of the questions below:
(a) Mean = 6 { 4, 5, 6, 7, 8, X}(b) Mean = 4 { 3, 2, 6, 5, X}(c) Mean = 2 { 5, 0, 4, 1, X}(d) Mean = 3 { 6, 5, 5, 1, 1, 1, X}(e) Mean = 1 { 5, 4, 4, 9, 0, X}


